75
FEHIR<FE - 1Z2%> No.1 DL

1. ROX & FRIZHE K,

(1) V32 +v8 V18

(2)

(3)

(4)

(5)

=4v2 +2V2 —3V2

V3 —V12 —3V27
=3 -2/3-9V3

3V8 + V32 +V2
=6vV2 +4V2 +V2

V18 +V/8 +V2
=3vV2 +2V2 +V2

3v45 +/80 +5
=9vV5 +4V5 +V5

.32
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5
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%11V 2

6v2

. 145

(6)

(7)

(8)

9)

(10)

VI8 +2V8 -2
=3V2 +4V2 - V2

V2T +V3 - V12
=3V3 +V3 -2V3

V5 =20 + V80
=v5 -2V5 +4V5

3vV27T +V12 +V3
=9vV3 +2V3+V3

V8 +32 — /18
=2V/2 +4V2 —3V2

K

% 124/3

. 6vV2

. 3V2



75
FEHIR<FE - 12%> No.2 DL

1. ROX & FRIZHE K,

(1) 3v32 +V18 +V2
=12V/2 +3V2 +V2

(2) V2 +3/18 —V32
=V2+9V/2 —4V2

(3) 3v32 +V18 — V8
=122 +3V2 —2V2

4 V2 -V8-v32
=v2 -2V2 —4y2

5 VZ-2/T8 - V5
— VT -6VT -2V3

/S

5

A

. 16V2

6v2

.13V 2

—5V2

Vo)

(6)

(7)

(8)

9)

(10)

V45 — /80 — 5
=3vV5 —4vV'5 -5

VI8 +vV2 +V8
=3V2 +V2 +2V2

V45 =20 + V5
=3V5 —2V5 + V5

V32 +V18 +2V8
=4V2 +3V2 +4V2

2112
V12 =23 + V27

=23 -2v/3 +3V3



TAHB<IZE - 1Z#> No.3 DEE

1. ROX & FRIZHE K,

(1)

(2)

(3)

(4)

(5)

23 +V48 +V 21
=2v3 +4V3 +3V3

3v'5 — /80 + V45
=3vV5 —4V5 +3V5

V8 +2v2 + 18
=2V2 +2V2 +3V2

VBV - V1B
— VB +2/5 - 3/F

V3 — V48 +V12
=3 —4V/3 +2V3

. 9V3

2V'5

™2

03
o

(6)

(7)

(8)

9)

(10)

V12 +2v27 — /48
=2V3 +6V3 —4V3

V8 +V2 -V32
=2V2 +V2 -4V2

V3 —2V/12 — /48
=3 —4V/3 —4V3

V2 —V32 +3V/18
=V2 —4V2 +9V2

V48 — /3 +3V27
=4v3 —V3 +9V3

%

43

—7V3

. 12V/3



THB<IZE - 1Z#> No.4 DEE

1. KOREWHITE L, 6) V8 —2V/18 +v2
1) V2 -VIE+VE =2V2-6V2+ V2
=V2-3V2+2/2
2 —3v2
%0 (1) 3V12 +V3 + V27
(2) V80 +V5 +2V45 =6v3 +V3+3V3
=45 +V5 +6V5
%1073
. 11V5 (8) V48 +V12 — /27
® V2 -v8-v32 = 4/3 +2V3 ~3V3
=V2-2V/2 -4y2
I VE)
B —5V2 (9) V8 +2V18 —/32
@ V3 -V2r -Vi2 =22 +6v/2 —4v/2
=v3-3V3-2V3
%AV2
Ho—4V3 (10) V80 + V5 — V20
(5) \/3724_\/@4_2\/@ :4\/3_‘_\/*_2\/3
=4V2 +3V2 +4V2
%35
%112




TAHB<IZE - 1Z#> No.b DEEE

1. ROX & FRIZHE K,

(1) 2v2 +32 -8
=2V/2 +4V2 — 22

(2) V45 +2vV5 + V380
=3V5 +2V5 +4V5

(3) 3v12 — V48 — V27
=6v3 —4v3 —3V3

(4) 33 +V48 +V12
=3V3 +4V3 +2V3

(5) 2v/48 — V12 +/3
=8V3 —2V3 +V3
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9v3

(6)

(7)

(8)

9)

(10)

VA8 + V12 — 27
=43 +2V3 -3V3

V2T =12 +V3
=3vV3 -2V3+V3

V2T V3 +2vV48
=3V3 - V3 +8V3

VA8 + 27 — /12
=43 +3V3 —-2V3

V8 +2V18 +/32
=2V2 +6V2 +4v2

%

%

3V3

. 103

122



